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TNSET 2024

Module Name : Computer Science and Applications
Exam Date : 08-Mar-2025 Batch : 14:00-17:00

Ns;’ Computer Science and Applications
PAPER 11
1 Let G be a simple undirected planar graph on 10 vertices with 15 edges. If G is a connected graph, then the number of bounded faces in any embedding of G on
plane is equal to .
G eteaiTLIgl 15 eflefllbL&Hemend: Q& TeoTL 10 Q&F MG S SIH6T 60 b ereflw Heang HBLILLILIL M FLOSET UEDTLIL DTS
@ BHSELGIWD. G 6T6aTLIS @) emeturdaLILIL L aIeamFLL LTS @ BHSTE, FLOGETSEH 6V G @)60T 6THSE UMD 2 L QuUTH LI
2 676 6TEVEm VG 2 L LIL L (Ln& IS 6rfl6T 6TeuuTetnl1&:6m8 @ &HMEG FLONMS @) (HEHEGLD
A 7
7
B: 6
6
C: 5
5
D: 3
3
2 It is observed that 50% of mails are spam. There is a software that filters spam mail before reaching the inbox. Its accuracy for detecting a spam mail is 99%
and chances of tagging a non-spam mail as spam mail is 5%. If a certain mail is tagged as spam find the probability that it is not a spam mail.
50% 25 F V&6 6NVGLILD 6T6dTmI &6v0T LM WILILIL (B 66!, @) 60TLITE:6Mm6eN 3i6ML6USME (LD6ITL] 6VELILD 3IEhFemev aulq.& L (hLD
625 QILDETELIMBET 2_6T6em&l. 6VGLILD 3jEHFenevss &6uoTLMaIS M & MeoT SIVeSWLD 99% L@ Lh. GLogwID 6hELID {6V6VTSH
3|EHFM6V VCLILD SEHFLMTE GG UMTILIL 5% SE&LD. @ GMILILNLL 2iE5F6v 6uGLID 6761 GMIG&LILILL M6, S
6VGLILD IEHF6LITS G)V6VITS [B&LDS & 60 6US &6oTL MWy LD.
A: 5/104
5/104
B: 3/108
3/108
C: 5/106
5/106
D: 5/48
5/48
3
If R and S are relatives from A to B, then which of the following statements are
false?
(i) IfR<S, then§'1<R!
(i) fR<S,thenS<R
R wmmib S yélwensu A ulled(mbg) B &5
@ enLulN6VTsnT 2 M6 6T ETETMITE, LIl63T6L (THLD
Famm|&6rlsh 6T HeummsnTg)
(i) fR < S, eraflad S~ < R
(i) IfR < S, erafad S < R
A (ii) only
(i) DL (1D
B: both (i) and (ii)
(i) & (i) @pevorG\LD
C: neither (i) nor (ii)
(@), (i) @pevor(HILD @ 6L6vI6V
D: (i) only
@ LG
4 A fair six sided die is tossed three times and the resulting sequence of numbers is recorded. What is the probability of the event E that either all three numbers
are equal or none of themis a4 ?
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6215 BIWITWLOTEOT QLM LSS LIGEL 3 (penm Srevorlq Tl B, 2G5 60T eflemerelmss aubLd euiflend eTeoorg 6T LIGe)
QFEWIWLILIHGGTMET. @S 6TE00TH6T FLOLNMTS G (H&ELD 2]6V6VS 3aIMMI6) R60TMI 4 91,5 G)6VEM6V ETETMITEV B1&HLP6) E @) 60T
Bl &LD & 56 6TEOTE0T ?

A: 712
73
12
B: 131216
131
216

C: 273

2

3

D: 17126

5 A meeting has 12 employees. Given that 8 of the employees are women, find the probability that all the employees are women ?

R Tl LEH6v 12 2erAWifg6T 2 6Temeory. 2er A WiFaerlev 8 GLITSHET GLIGUT 6T60TLISST6V 2|60)60T& S 26 LS U8 @B LD
QUUIGTOT G EITITE @) ([HLILIG D& M60T [B] & LD &8 6618 & 6uor L Mle]LD.

A: 11/23
11/23
B: 12/35
12/35
C: 29
2/9
D: 1/8
1/8
6 Slack variables are always

6NV6LITEs LM &6 ETETLISI 6TLIQLIM(LDSILD

A Positive
GIBIJ 06 MWITEOTS
B: Non-negative
THFDEOM LTSS
C: Zero
Ll merg)
D: Negative
GTH T LDEMMULITEOTSI
7 How many three-digit integers are divisible by 5 ?

615 & 60)60T CLOGITMI @)EVE S (LA(LD 6TEO0TSHET 524,60 UGS LI(BILD ?

A: 179
179
B: 180
180
C: 182
182
D: 181
181
8 When multiple critical paths exist, with same expected values, the is used for probability estimates.
@G LTHFlWmer TR FUMTEHSLILBID LS LIS EBLE6T L6y TMIFBlene) LIMenS&H6T @) (5o E&GLDCUTS!, Bl&HLh&H 56
LHLTOHEBEES LweTURSSILGRmS!

A Largest mean
Waslauiflw gymaifl

B: Smallest mean
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WaFAmw srmei
C: Largest variance

Wasuauflw wrm)
D : smallest variance

WesFAmw wrm

Maximize z = 3x; - 2X, subject to x| + X5 < 1, 2x] +2X5 > 4, X1, X5 > 0.

SO LUUTH 86T
Xy + X, < 1,2X; +2X, >4 X[, X520 2 L 60T Z=3X - 2X,8 e S LILG S Se)LD.

At Zpa =1
Zmax=1

B: 7 =2
Zmax=2

C: No solution
Bijey @eveney
D : unbounded solution

aIyLleveuns Sie|

The basic step for processing the statement 1 + n < 2" by the method of mathematical induction is

6001 & SMET0TL6V (LDEMM ELNGVLD 1 +n% < 2"Gn MMM Q& WI6VTE G 6US M ST Iq.LILIML Lilg

A: 1
1
B: 0
0
C: 5
5

D: either 1 or0

1 36VEVGI 0

Choose the options pertaining to CISC characteristics :

(1) Fixed length Instruction format

(2) Variable length Instruction format

(3) Relatively few addressing modes

(4) Large Variety of addressing modes.

CISC AUINWeVL-6@ Q&TLTLaTemeumenm CHIHES M)

1. BlemeuwmeoT BT Q&FWEVLNENM F&6a160 allgenLnLiL]

2. Blemeuwimm BT QFWELLNENM S8 616D 6l 6mLOLIL]

3. @UINBemasuwle 10& Flev Waallfl CF 8608 56T 608 WITEHLD (LN & 6T

4. 919566 LIGaIMI 616M&WITET (LN6aISN] CFIT&H 608 86T 6M&WIMTEHLD (LD M &5 6T

A: (2)and (3)

(2) ooHaid (3)
B: (2)and (4)

(2) O DILD (4)
C: (1)and (3)

(1) LoD LD (3)
D: (1)and (4)

(1) LOHIYLD (4)

With 4 - bit 2's complement arithmetic, which of the following additions will result in overflow ?
(i) 1100 + 0100

(ii) 1100 + 1111

(iii) 0101 + 0100

(iv) 1010 + 1100

4-@\(BLD @)6V8:851D 2-60T BITLILY 6T6v0T 560011556 B8 QG MeuoT(h), BLOE &L 6THSE Fnl L6V, lena BlTLIedsy (Overflow)

@IqUih ?

(@) 1100 + 0100
(i) 1100 + 1111
(iii) 0101 + 0100
(iv) 1010 + 1100

A: (i) and (i)
(i) LoD DILD (ii)
B: (iii) and (iv)
(iii) LDMMILD (iv)
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C: (ii), (iii) and (iv)
(i), (iii) LDMHMILD (iv)
D: All of them

G MH TN 606TS SN

13 It Contains the address of the next instruction - pair to be fetched from memory.
Ble0) 60161 & S H 60 (HIH S Q& TevoT(H) 6U(BLOLILGWITET OGS &L _Lemear Cmiq&erler waeurflenw G1&meoorLq.(BHLiLIS).

A AR (Address Register)
AR (W &eurf] LS LILImedT)
B: XR (Index Register)
XR (&L1q LIS LILIT6IT)
C: PC (Program Counter)
PC (&L_L6M6T BlJeLGETLD)
D: AC (Accumulator)
AC (B TL_(H&6TLD)
14 How many 128 x 8 bits bit RAM's are required to design 32K x 32bit RAM ?
32K x 32 bit (G)(BLD @)6v&:&1D) RAM aulqeuemnnlILIGMHEG 6785 S5m0 128 x 8 bits RAM GG emaul LR m &I ?

A: 512
512
B: 1024
1024
C: 128
128
D: 32
32
15 Which protocol does not use characters in its control field and is independent of any particular code in serial Communication ?
6TH & QBMILPEM 2G0T L GILILTL (D LIeVSH 6L TS SIGm6TL LIWaTLM SSaS InHmID QSTLT S&H6160 Q& LT &6rfl6)
eTh5s5 GOILLILCL @MU 1960 BHSID SWTHETONS 2 6T6rs! ?
A: Character - Oriented Protocol
WSS FMIHS QBUILPD
B: Snoppy - Protocol
evgaril pmlpenm
C: EBCDIC - Protocol
EBCDIC QB (Lnemm
D: Bit- Oriented Protocol
UL #miBHs QBDlpem
16 A specialized I/O processor takes over control of an I/O operation to move a large block of data is :
R0 SeflGFHeTenamilbg /0 allensFliaumm) e® QuFlw /0 Je| QTG b&HFSHSIsNE &L GLILTLML &60Td 6T
T0 5816 Q&TTHEMSI. SIS
A: programmed I/O
Blyeum&ésh Q&S 1/0
B: interrupt driven I/O
GM&EHH Q&g 1/0
C: DMA
DMA
D: IPC
IPC
17 What type of Computer Instruction does "Increment Accumulator” belong to ?

"LIQpenmCWmm L (H&6euID" (Increment Accumulator) 676166085 8560011601 EM&WITEBLD (LNEDMENUIEF FMTHES! ?

A: Memory Reference

Blenerauss &MILILIH)

B: Register Reference

U Ca(® &MILILTH

C: Input Reference

2 el @ GMILILE
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In

Output Reference
Qeauerfluf B &MIILILTH

is called Data Selector.

s76] Carail 6Ter AMPSESHLILGRMSI.

Encoder

GSHWMER

De Multiplexer

LedTLAILILN (De Multiplexer)
Decoder

GnlallevsEa

Multiplexer

LI6oTemLO WM& G (Multiplexer)

Flynn's classification, which parallel processing type is rarely used in practical systems ?

LN 6rfl60T-60T QU S LILIML 196V 6TIHS @) 60)600T WLITE Q&FUWIVTES alemnd SflgMe: LwWaTUhSSLILGRMmS 2

A:

SISD
eTenER6TENLY.
SIMD
6TEIVEY6TIDIY.
MISD
6TLDEY 6TV
MIMD

eTLhEYeTLNL

Which of the following is correctly paired ?
FELDEIHEUGTAIMMIET eTemeal FIfWMEG QUTHSSLILIL (B eTermeor ?

A:

Micro Operations - Register transfer language

T5I600T QFWIEVWREmM - LIHCaummi Lommmi Quomid

Binary Code - Assembly language

snuerfl &IUI® - o1& berfl Quomgl

Program Instructions with English words - Machine language

BTV 6uSl (LD M 6T - B BITN6V 6UITTE NS G EBL6T - @WHH T Qomys
Symbolic (Mnemonic) Code - High level language

ST G &MIuIG(Blemerayl L ev) - 2 wiFnl L Qorid

Determine what's true for x, if we define int *x[10] ?
BITLD int *x[10]-83 QUEMTWIENM QFUISTEV, x-5(& 615! FfIUIMEoTSI 6T6dTM STL0M6evl & &6 LD,

A:

This definition will only allocate 10 pointers but will not initialize them

@S auenyuwenm, 10 LieTeflgemnear LG @&I&HHH Q&F UIW|LD, QLETTE, SMEUHEBHEE QD Sl6UGHEID Q&HTH &E& TS

The initialization must be explicitly performed
SleUG 5D QeueflILLWINS B&HDSSLILL Ceueor(b

The definition will only allocate 10 pointers but will not initialize them. Also, the initialization has to be explicitly performed

@bS euenTwenm, 10 LiaTef&emneT DL (G RSIHSHGH QFUIWILD, SL,e0TT6V, (B SlaU&HEHID Q&EMTHHETS; GLID, &laI&EID

Q&ETEHLILS QaleflliLeaLwms BlepssLLL Galeor(h L.
Error

Nemip

Which of the following polygon clipping algorithm can be used to clip a filled area ?

@@ BITLULUL L UGHemw s Rerflll QFulw, BLp&aeuorL 6Th& (b LIcGsmevor Rerflliliimk ojeusmiflgn LwWeTU® &SI 2

A:

Sutherland Hodgman Clipping Algorithm

FHTGeveTL. ammL_ G060 GRerfllin 9jeuas Mg
Weiler Atherton Clipping Algorithm

Qaullevy gs L L6 HefiINm oeuasriflgin

Vatti Clipping Algorithm

Il e (eumLl1q) Beflim sevssriflgin

Greiner Hormann Clipping Algorithm

FQTUIeTT @mmIELeT RerflliNn 9jeuasmiflgin
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23 Which of the following statements contains an error ?
GG sHmevorLILI(BID 6THS S Fahmiserfley Llenp 2 eeral 2

A: Select * from stu where stuid = 897;
Select * from stu where stuid = 897;
B: Select stuid from stu where stuid = 9786;
Select stuid from stu where stuid = 9786;
C: Select stuid from stu;
Select stuid from stu;
D : Select stu where stuid = 786 and lastname = 'XYZ',
Select stu where stuid = 786 and lastname = 'XYZ',

24 The Cartesian slope intercept equation for a straight line is

@@ CHIGHCHMLLY6T, HTFTLICR 6T Fmile] @sml_mm]uue; FLoeTuIm GLD.

A Yk+1:Yk+M
Yier 1=yt m

B: Yk+1:Yk'M

Yk+1 7Yk M
C: Y=Mx-b
y=Mx-b
D: y=Mx+b
y=M.x+b

25 In bitwise operator, each right shift operator divides by

AL eurrfluimest QEWMLIMTL LG 6D (Bitwise operator)@@.l@@ﬂl‘l’(l]j QUEVSI 5&T6 Q& W68 LD (right shift operator), udleormeb
RIS

A: 1

@]
o o A A NN

26 ‘Which among the following best describes polymorphism ?
GLpaaenorLalmilev 61l 'LIMeSnmisLev'sens s siflwung efleaufl&Rma 2

A': Itis the ability for many messages/data to be processed in one way
LIV QF IS &HmETULD, HT6|Hem6TLD (data), @GCT (emMUilel QFWIMTEHSLD QFUIULILD F&S.
B: [Itis the ability for a message/data to be processed in only 1 form
@@ QF WG WD, STenell]h (data), RCT LNeMMUIEL QFWMESID QFUIWWD &S,
C: Itis the ability for a message/data to be processed in more than one form
R QFWHemWwU|Dd, HTemeuuLd (data), LIV (RedM&6TlE QFWMHSID QF LWL $&S5.
D: Itis the ability for undefined message/data to be processed in at least one way
@ QUMTIWMIGSLILLTS QF LIS MWCWIT /STenauGUIT, e (Wenmuilleumalg Q&FWLeM&sID QFUIWLLD §&S5).
27 The allows us to identify a point in a transaction and selectively roll back operations carried out after this point.
ufleifgsemeruley e@h LieTeflemul &{emLWITerTLh &600r(h), SleveWINTE: SibSLI LeTefla@L LIm@ 2 drer 'CrmeuGLIS
2 LICTag6TeN' QFWeLIB6USNHE FLHEHMSI.
A: mid point
I Liruflevor
B: Save point

G&eu Limullesort_

C: Commit
-1\ [
D: Save
G&el
28 The normal form is based on the concept of transitive dependency.

FMSTIE00T QU6 '1q [TTearerdliq.6) 19.QLI6TL63Terd)' 6T6TM & (HHENS I LILID L UIMTEHS C&TeooTL S,
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29

30

31

32

33

A second
@)\ [T6TOTLITeUSI
B: first
WHevmeUG!
C: fourth
[BTEOTE: T6U Sl
D: third
AT TEUS!
In Switch-case, the is not allowed to be case labels.
el & Gagendley! APES WS MTHETTS (Case labels)@)(H&H S RL1LIGH6) @)6V6M6V.
A int
int
B: float
float
C: double
double
D: string
string
In C++, functions are not actually called, rather, their codes are expanded

C++-Ud6b QFWLTHIGET 6TLIGLIMGILD Semips s LILG e evemev, DTMTS, 3jaummler Glufhiaer allifleums g LiL{ & ermeor.

A: friend
LIQ 60T L
B: virtual
QeUJES6aI6)
C: static
VGL L9 &
D: inline
(3) 60T60) 6V 60T
The technique involves reprocessing the day's transactions against the backup copy of the database or portion of the database being recovered.

BILLILD T6TLISI ST6) SaTES60 &ML LT Si606ugl HT6IS S6T55l6 LGHamw BLOLHLUUSHES a6 TTs
SleTemmU LIFl6l T8 560 60T&H M6 LDMIGF ILIGV TS G6UMS 2 6TeTL_ SR WIS,

A Store
Geuofleof] GadlLiL]
B: run
QFWOLGHSHSIS 60

C: compilation
QBTG SHH60
D: Restore/Rerun
1S Lemn/ln M QFWeLI(H &SI %560

Choose the correct answer.
In memory management, page size is always, power of 2.

BlemeoTauds GLOeLTEtoTem U6l LIgE 316M6) 6TLIGLIMWD S 2657 H(H &&TEH G (B GLD. Filwimer efllanLenwisd CHI6 Q&Fis.

A Denpends on the H/W
H/W QUM & Sl
B : Translastion of a logical address into page number and page offset is easy.
el (G alflemll Lig S eTetor LDMMILD LIS & offset-85& LOMMHMIaI I eTerfl g
C: Maintenance is easy
ugmoiliiy ererflg
D: Makes Addressing unit job easier.
wsaflaw QFWHLBHSSISm6 eeflgms:G&H mal
Which of the given topology of distributed system has the higher degree of availability of tree structure network ?

6T S ellFeuev Sevoflenll QFIWenmUiey @ Lalliedley 2H & eTevoTeuol&6m & UNEUITET O] eULg.6u 66m6vL LN 6oTeoT6L
&L LennlemnLg Q& mevor(H6Temsl ?

A': Partially connected network
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35

36

37

L&D @ eneuurliL] alemev SjemLoLiL]
B: Tree structured network

LD 6UIQ6) QUEMEV 6MLOLIL|
C: Star network

BLESTT 6160160 {6mL0LIL]
D: Ring network

QWL QGITLIT 6UEM6V D 6MLOLIL]

In which of the situation, one-pass assembler is effective ?
BELDEHG60TL 6THS Blemeuuilev, one-pass assembler FAMLUILITS QFWOLGIEMSI?

A Handling forward references
(PETGETITE G GMILILI6DTEH 6T 60185 LITEH 5560
B: Less Secondary Storage
& EIMEUTEUT S16M6E00T [B]60I60TEU S LD
C: Small programs
AW QFWMHSLLemerT
D: Large Secondary Storage
3|F\& F160)600T [Bl6MEOTEUGHLD

A web browser is a example of
6 ([H @) 6m6uorl 2_6uTel 6T6dTLIG 5G dHHSHEHTLLMTGLD.

A Asingle-threaded process
RO Qenip Bre) AFWLLIHSSID e
B : Multithreaded process
LI6v @ 6L HNeL&6T QF WL SHSID (LPemm
C: Concurrent process
RCT FLWSH QUEIGSHD WM
D: Multitasking
LieuLIeooll @ W& 8 (LNenm

Consider the following processes with CPU Burst time P1, P2, P3 arived at time 0.

What is the average waiting time of these processes executed using FCFS algorithm.

Process CPU Burst Time (MS)
P1 24
P2 3
P3 3

BpsseurTL CPU semflesfluiler smow GlewmLGSluilest erhs
GlFwsvpenmwmeTd) Py, Py, Py &remTid 0 6T60T @)(H5560 Flmhs &l
FCFS ulg (penms SFeysenst rmeifl &THS)(HLIL STeVlDd SevoTe: (b ereoTes 2

QlFwsvHpenm CPU wewfl iBlenm smsuid (MS)

P, 24

P, 3

Ps 3
A 12
12
B: 14
14
c: 17
17
D: 18
18

In distributed system each processor has its own

LTaIeVTSHSLILL L SemoLILN60 @aIQeUT[H Q&FWeU|LD 2HeT QFTHS 85 Q& IT6uoT (D GTEMG.

A: Local Memory

2 _6iTeehIj Blemeraussin

GET IT ON
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B: Clock

&HIQ.&TILD
C: Peripheral devices
LM& & IT& 60T Mg 6T
D: Local Memory & Clock
2 _6TeeBIj [Blemerals L DMHMILD &IQ ST

38 The expansion of CAP is .
CAP ettt 60T el fleumé LD 2L,GLD.

A Consistency, Availability, partition tolerance
Ble06u 56 HeTemLD, B & GLD HeTemln, LIS Ta| FRLILS S60Tenin
B : Consistence, Availability, performance
Ble0160 5 HETemLD, Fe0IL_& G LD HeTemln, QIFULI6Y Hmesr
C: Computer, Automated processing
Geooflevf), HeoTenl WIS HEF QFULIGVTE LD
D: Consistency, Atomicity, process
[B160)60 5 S EOT60LD, 3|01 S5 60T60)L0(&T6Y S5 S 6T D 6MLDLIL|S56MT), QI &F WI6LLHEmM

39 Degree of multiprogramming is controlled by

LI LI LBTT&R Tl IS 60T 36Ty epeVld SLOLUUGSSILQSH DS

A: Short term scheduler

GOHW STV QFWWmM S LLAL 6V
B: Multi processor

QF WM& &L
C: Long term scheduler

BeooTL & Mev QEFWeLWemm HILL 1AL 6L
D: CPU scheduler

CPU S L1AL6v

40 Assertion(A):Rubber necking might be called non generative pattern
Reason(R): Non generative pattern describes a content and a problem but it does not provide any clear cut solution.

Fadmi (A) : JLILT QBE&EERMBINS 2 (HeUTSHS (LNIGWITE (LDEDM 6T60TMI 2J6DLN&SHEVITLD
&ITeooTld (R) : TLILIT QB&SGMI GLIL L 6T 2 6TemL_&& 0 InMmmild F&sHemev ellauflGR M. aL6Tme 218 QgerflalmeTt Gieneal
GTEM S LD GULDMHIG TSI,

A: (A)is true but (R) is false
A GTEUTLISI 2_600T6DILD L60TT6V R SH6UmI
B: Both (A) & (R) are true; and (R) is the correct explanation of (A)
A & R @06oor(hlLh 2_600Ten)L0; LOMMILD R 6T6dTLIGI A @)\ 60T Fiflwimeot elemg: &L
C: (A)is false (R) is true
@\ Tevor(hILD A 6T60TLISI &6 M1 SLE0TITEV R 2_600T60)L0
D: Both (A) & (R) are true; but (R) is not the correct explanation of (A)
@\ TeooT(HID A & R 6TEOTLIGI 2_600T60L0; 24,6016V R 6T6dTLIGI A @601 &iflWimeoT elemé:asLh 2606V 6T6dT LIS &1l

41 Which encompasses a set of activities that leads to mathematical specification of computer software ?

618l & 6v0fl el QLETQ LT[ 66T SHemo158 GSMILILIL(H\& G miausH&Ter QFWDHUTH &6 QSTSLIenLS GME&Rarma! ?

A': Formal methods
Frflwmet (Wemmas 6T
B: Process methods
QFWIMTEHS (LLEOMSHET
C: Product methods
QUITIHET (LDE®M & 6T
D: Linear methods
FITer (LNEnM & 6T

42 Dynamic Systems Development Method is an
L erdlg Gl LD6N GIL6UEVLIGILDETITL. (LM 6T60TLIG

A Agile software development approach
I|6MEZ6V GILDESTGLIM(H 6T GLOLITL () 260G (LD6mm

B: Prescriptive software development approach
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UflbgenTsaLILL L QLOETQLTIHET GLMUITL (h 2 6mIE& (e m

C: Formal software development approach

(DEMWITET QLOETGQLIMIBHET GLODLITL (B 2600 & (LH6mMm
D: Evolutionary software development approach

Uleworo QOETQLIT@HET GO LML () 651G (LD 6 M

43 Pipe-and-filter pattern follows which design architecture ?
UL DMHMID &LN6VL 60T euemTLILLD 6THS 2 (BeuenioliL] &L LennliLeir aulgeueninlienl LNerUmaS ma ?

A': Object oriented architecture
QUIMTIHET FMJHS &L LemLnLIL]
B : Data flow architecture
576 L|P&HSHLD HLLemLOLIL|
C: Call and Return architecture
SenpliL] IMHMID SHLIDLSE &L LeninliL]
D: Layered architecture
OGS HLLenLnLiL]
44 Which method can be applied to problems in which the input domain is relatively small but too large to accommodate exhaustive testing ?

2 6Tefl(® Yeuib e lILf Lemaileh AnflwiG T @ BHES T, (L (LDEDLOWITET CFMEM6TH G @)L L0668 (DIQWITS 36768 E
QU lWSTE QHEGID FEHLHEREHSG 6THS (LMWL LIWGTLUG ST 2

A Equivalence Partitioning
FLOLOMeT LG Tey
B: Orthogonal array testing
U THCHTEHT allflend C& Mg emeor
C: Graph- Based Testing
QUL 919 LI Lulevmeor C& Mg e 6o
D : Boundary Value Analysis
6T6LEm6L LOGHILIL| LIGLILIMULEY
45 In estimation for software projects , A, B, C are empirically derived constants , 'E is effort in person- months and e, is the estimation variable. What is the form
for overall structure of Estimation models ?
QLETAUMH6T HILLMHIFHEEHS LH LIS A, B, C 6T6aTLISI SIS TTTHETTE HemL WLILIL L [BleneusaT, E 6TeiTLIS!
ueoof Iy flw WO Q&FWIWLD LOMSMHIGET LMHMILD e, eTedTLIG LHLILTE ). G LILTE LrLsvaserfler Qngs ojemLoLliLler
QULQ.GILD 6TEdTEDT ?

At E=A+B+(e,)°
E=A+B+(e,)°
B: E=AxB+(e,)"
E=AxB+(e,)°
C: E=AxBx(e)°
E=AxBx(e)°
D E=A+Bx(e)
E=A+Bx(e)°

46 In software Engineering , Separation of concern is a .
QueTaum@er Qurmluluwiedley, sealemevenwils LNFILIS eTaiTLIG

A Requirement concept
BFHemeU H([HSHS!

B: Implementation concept
QFWOLGSH6 H(HSH I

C: Testing concept
CFMH MG &(H& S

D : Design concept
allgealemLIL| HIHSS

47 The software design can be developed linearly for .
QLOETRLIT(HET 6UL6U6MLOLIGTILI CHIG&HITLIQ6V 2 (HEUMTES (LPLGU]LD.

A: Hybrid systems
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SHeulILleot ojemLnLiL|&eT

B: complex systems

F1 & H6VTET S|emLOLIL| S 6T
C: Bigger systems

QuUIlw eI &6
D: Smaller systems

Al oemnlIL| &6

48 is the single attribute of software that allows a program to be intellectually manageable.
GTEOTLIGI QILDGITG LIMB6N163T 6@ emm LIGTTL| & Fa Ml SL&LD, @& @6 BlFenev nflalL,Feallnrs Blre &R &
SIDHEHDS!.

A Abstraction
G (HSHSHLD
B: Separation of concerns
Wbal uryliugl
C: Modularity

QTGS el
D: Patterns

611 6) MBI & 6T

49 Which one is not a requirements of QFD (Quality Function Deployment ) ?
@56V 618 QFD@) 60T BH6MAUGHET 2{6V6V ? (Quality Junction Development)

A': Normal Requirements
FMSMT6oor G 60)6U 56T

B: expected Requirements
THRTUTTSSLILGILD C&He0I6U8s6T

C: Validating Requirements
GamalsemerT Fiflumyliug

D: Exciting Requirements

2 MFMHLOMETT C&H 606U 6T

50 Single array a[0 : MAXSIZE - 1] is used to implement two stacks. The two stacks grow from apposite ends of the array. Variables top 1 and top 2 (top 1< top2)
point to the location of the topmost element in each of the stacks if the space is to be used efficiently,
The condition for "stack full" is .
@ T6oT(h 2B GHDTE QF WSS @menm 2enl] auflens a[O : MAXSIZE-1] LWaTUG SSLILOR M S!. §) T6uor(h
3(H&&GSHEBLD auflenguller eTH T aorss6fled (B! eueTBLD. LM &ET (Variables) topl LOMHMILD top 2 L& W6 QLGNS 5
F e WTSHL LIWeTLBG S5 Caletor(hLOMeTTel, elQ el 2|(h &G S&6flain 2 6rar 1la 2 Wibhs &evflng S eor
QOGUILSMSS GM&E|LD.
"9\ &G (stack) BIFLDLI U 6TME" 6T60T LIS M & 60T [B)LIH S5 60)60T

A: Topl =MAXSIZE -1
GOV 1 = SIBSLILF 2_([HeuerTe - 1
B: Top2=MAXZSIZE - 1
GOV 2 = SIFGHLILF 2 (HeueTa) - |
C: Top 2+ Top 1 = MAXSIZE - 1
GLO6L 2 + GGV | = SIFH&HLILF 2_(HeU6rTey - 1
D: Top2-Topl=1
GL6v 2 - GLoev 1 =1

51 What is the output of the following code ?
my recursive<-_function(n)
3H
if(n ==0)
return
print(n)
my_recursive(n-1);
H
my_recursive_function(10)
FEC Q&ETH&SELILLG6Ter GMIUT1g6r QeusfluT® eredreor 2

my_recursive< -_function (n)

{

if(n ==0)

return

print(n)
my_recursive(n-1);

my_recursive_function(10)
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52

53

54

55

A: 10
10
B: 1
1
C: 1098...1
1098...1
D: 1098...10
1098...10

What is the Inorder Predecessor of 8 in following BST.

o
@

G 6L s mevor LI BST-ulledr 6r6v0r 8-60T auiflem & LILIHGSLILIL TS (P6TGTTIY (Inorder Predecessor) 6T60T60T 2

&CLp ssmevorLiL(hlib BST-uSleor etenor 8-601 suflemaiLi(hlgeluLns (psiTGeormiy (Inorder Predecessor) ererent ?

“ee

A: 10
10
B: 7
7
C: 13
13
D: 14
14

The worst case running time to search for an element in a balanced binary search tree with n2" elements is
n2" 2_MILIL|&6T 2_6TerT, FLnBlemnev @ (BL0G (binary) CHL6V LDTSHH 60T @ 2 MILIenLIS (Bg@sug,ma;rrafr GTFLOmeT Blemeuuilev
@ WmkIGLD GHILD

A: O(n)
O (n)
B: O (nlogn)
©® (nlogn)
C: ©(n2n)
® (n2n)
D: O (logn)
O (log n)
The depth first search will use as a structure to held nodes for further processing.

SLLPLOMET (NG 6V B L6 (depth first search) GLOGILD QFWIGVITE: &G H MG TET (LNEDIGUTEH METS CHL &L L el ILImaLI
LweTu@ S Sieus LG LD.

A Stack
'eVGL&'

B: Queue
‘Suy'

C: LIST
'efleruL

D: ARRAY
'SIG

Covid (n)

fa=1;

foriis 1ton)

i{f(i <=n/2)

{for (jis 1 to i)

a=ati;

}
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else{

a=a*i;

1

Running time of Covid(n) is
GsmadlL (n)

{a=1;

for(iis 1 ton

{

if(i<=n/2)
{for(jis 1 to i)
a=ati;

else {

a=a*i

By

Gommeill @Wmki@Lh GBITLD (n)

A O@m?)
0(n?)
B: O(n3)
0(n’)
C: O(n)
O(n)
D: O(nlogn)
O(n log n)
56 Good design dictates that error conditions be anticipated and error-handling paths set up to reroute or clearly terminate processing when an error does occur.
This approach is called
F6V6V aUlg.elemLOLIL] LT6mLD Blem6euenLngs 6T eT&H TLIMTE & LILL GaleuoT(hLD eTedTmi &L LememulBH& ma! wmmih LlenLp
gHUBLCUMSI!, QFWITESESMS LMHMIWELDES V60S! (DWDEISILTS BMISSIISNHG , LNeOLD 608 WTEBLD LITen g &6l
SN LILL(H6TET6T. @)\ 260G (LNenME G LI QLW
A: Bug
QETELITHET LemLp (Bug)
B: Error
geoofleofl LNemip
C: Debugging
Nemp B&sD
D: Antibugging
Heie 5OHGLD hem
57

Match the following :

(1) PUSH (a) STACK

(2) FIFO (b) Stack insertion

(3) POP (c) QUEUE

(4)  LFO (d)  Stack deletion
BlpssesTLeuMen ML ClUM(HS S8

(1) PUSH () 6v6Ls

(2) FIFO (b) 6VGLE @etTETgesT
(3] PaP (c) B

(4) LIFO (d) 6vGLs GlLeSagesr

Az (D-(b), (2)-(),(3)-(d),(4)-(a)
(1)-(b), 2)-(¢), 3)~(d), (4)-(a)
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B: (D-(a), (2)-(b),(3)-(c)(H)-(d)
(1-(a), (2)-(b), (3)~(), (4-(d)

C: (D-(d), (2-(0),(3)-(b)(H)-(a)
(-, (2)-(0). 3)-(b), (4)-(a)

D: (D-(0), (2)(d),(3)-(a),(4)-(b)
(1-(0), (2)-(d), (3)~(), (4)-(b)

58 The breadth first search will use a as a structure to hold nodes nor further processing.
9|&H6EVLDITET (LNF6V GFHL 6V, e, GLOAILD QIF WIEVITE S GH MM (LOED) 60T 66T 60161 S H) (H &5, 6 (H
S LenbUUTsLILWeTUH SSID.

A: Queue

aflens (&)
B: Stack

HDES (6VCLE)
C: LIST

LI 19 ui6b (696ruL)
D: ARRAY

afleng (916n)

59
Match the following:

1. Divide and conquer (a)  Dijkstra's shortest path algorithm
2. Dynamic programming (b) Tic-tac-toe
3 Greedy Approach (e) Binary Search free

4, Back tracking (d) Control theory

: &6 CamhlssLUL(hsTereumenmL GClLIM(H& &6 LD.

(1) Wlga QeumHm) &mem)sHeo () gevLgmeileT WBlge] b
GnISIW LTens
V& MIflgLD
(2) LTI BHIFEVTEESLD (b) 4&-GLE-GLT
(Dynamic Programming)|
(3) ‘Bfly’ 21680 (& (LM (c) enueTfl 08 Lif
LI\ 6BTEU TR (5 & 60 (d) sLEUUTLHE Carium(b)
(Back Tracking)

At 1-(c), 2-(d), 3-(a), 4-(b)
(D-(c), 2)-(d), (3)-(a), (4)-(b)
B: I-(a), 2-(b), 3-(c), 4-(d)
(D-(a), 2)-(b), (3)-(c), ()-(d)
C: 1+(b), 2-(d), 3-(a), 4-(c)
(D-(b), (2)~(d), (3)-(a), (H)-(c)
D: 1-(d), 2-(c), 3-(a), 4-(b)
(D-(d), (2)-(c), B)-(2), (4)-(b)

60
Consider the DFA given below

1 ] 0

_,wo.;o
1

Which of the regular expressions given below represents the above DFA ¢
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DFA UL &G Qam(hlessLuL (HsTersg).

HCL QasmhHlassLLL (hHeTsr eTeneu DFA gamisenser GleusflliLi(hg g &leTmenr ?

A (0+1)%00
(0+1)*00
B: (0+1)%0
(0+1)%0
C: (0+1)*
(0+1)*
D: (0+D)*00(0+1)*
(0+1)*00(0+1)*
61 Which of the following grammars is (are)ambiguous ?

(1)S — SS | aSb | bSa |e
(2) S — aSbS | bSa$ |e

(3)S — aAB

A — bBb

B—Ale

BLPG:GH600TL FLOETUITL 196V eTemal Qg erflaummeneau ?
1)S®SS|aSb|bSa|e

2) S® aSbS | bSaS | ¢

3)S ® aAB

A ® bBb

B®A]|¢e

A: 2and3 only
2 10MHMID 3 WL GIWD

B: 2only

2 (LD
C: 1,2and3

1,2 loMmmID 3
D: 1and3 only

1 LoMmId 3

62 Consider the grammar,

G=S — abScB | e,
B— bB |b.

What is the language generated by the given grammar ?

@FFLETUTL ML HHSH Q&HTeTSH

G=S — abScB [¢

B —bB|b.

@) HedTeLN6VLD &600T LMWL QILIMH6IT WTeme ?

At L(G)={(ab)"(cb)™ | n=m}
L(G) = {(ab)"(cb)™ | n = m)}
B: LG={@"b)"(ch)™ [n ' m}
L(G) = {(@"" (" [0 m}
C: L(G)={(ab™ch)y™" n>0, m> 0}
L(G) = {(ab)" (cb™)™ | n >0, m > 0}
D: L(G)={(ab"(cb)™" n>0, m> 0}
L(G) = {(ab)" (cb™)™ |n >0, m* 0}

63 Given a Turing Machine, M to determine whether M ever moves its head to the left when started with input W is:

ST G a1 QFWeW M SHHel M SHeneulmeargl 2 aTef(h W6y LTSS Te0 @)L SILGSEID BHTHMST 6TeTLIS

A: Decidable
FILMel&E5H86 gl gl
B: Un-decidable
FiLmefl&Hs @ uieums
C: Trivially decidable



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addai2y7 Eoogle Play

eTef1H6v QFWOLMHSHL (LDLGU|LD

D: Can not be determined.

BlFeoorui & & (LY WM

64 | What is the final value of the postfix expression BCDAD - + - +.
where A=2, B=3, C=4, D=5.

BCDAD -+-+ @&6v A=2, B=3, C=4, D=5 @ BH STV LNeTQeorL_1q QaueflliLim®) - @mS G Uil eTeoTeor 2

A

Q
ST B~ N N N N VY

65 Consider the given grammar
S — Abc | ad
A—eS|Crl &
C — flplg
Compute FIRST (A)

FLDEHGEITL FLOETUITL 0L Q& M6,
S — Abc | ad

A—eS|Cr &

C — fiple

FIRST (A) 560015 R (H) & .

A: FIRST(A)={e,f,p,r,&}
FIRST (A)={e,f,p, 1. & }
B: FIRST(A)={a,b,&fp,r}
FIRST (A)= {a,b, & f,p, 1}
C: FIRST(A)={f,p,&}
FIRST (A)={f,p,&}
D: FIRST(A)={f &}
FIRST (A)= {f, &}
66 A problem that has the property that it can be solved in polynomial time if and only if all other NP-complete problems can also be solved in polynomial time.

DM SEM6TESI NP - (LD (LDEDLOWIITEOT & 60018 & 8 EHLD LI MILIL|&HCHTemel CBISH 60 HFeHSHLILILL M6 Ll HIGLD 23l
L6aumILILE Camemed CBHTSH 60 BFEaLILIL & 8nIQ W LIGTen LIS 618 ITeoTL 62(hH & 600T8 & .

A': NP-hard problem
NP &19.60TLOIT6OT 8560015 &
B: NP-complete problem
NP (L0 (LD6DILO WITEOT & 60018 (S
C: Deterministic problem
BLomefl&@LD & 600 &
D: P-complete problem

P-(LD (LD 6EMLOWIITEUT &5600T8 (&

67 An nxn Matrix A whose elements are
{ay}, is said to be upper triangular if {a;;} = 0 whenever i > .
62(H n x n 60 1UN6D A 6TEDILD T MIGET { aij} GTEOTLIGH 60 60T GLO6V (LN& GG ITEU0T 6119615 T ([(H& G LD aij=0 @) (H&HGSLDQUTD S

1> @G&H&HVITLD.

A: 1<ij<n
1<i,j<n
B: 1>i,j>n
1>i,j>n
C: I>i,j=n
1>i,j>n
D: I<i,j<n
1<i,j<n
68 In which graph, semantic rules set up dependencies between attributes ?

BELDGHGEITL 6THS UeTLLSH60, Gnilellens s & &6T, FMTL&6T nmmILD @ WimLievorL|&erfler <jiq liLienL_ulley
Bloieu LG & eTmen ?
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A: Cyclic graph
&M euemFLLLD
B: Dependency graph
STy euemyLLLD
C: Acyclic graph
MR UNLET aUemTLIL LD
D: Tree structure
Oy SLLenLoLliL]

Select the cost of given instruction
ADD 4(R1), * 8 (R2)

QEMHGSILL G 6TeT GUILIL&EB&HE ADD 4(R)), *8 (Ry) gL 6T&Hen6T HI6] InTHMI&H6T CHenal eTer CHIa QFUIs
A: 2
2
B: 4
4
C: 3
3
D: 1

1

In symmetric key cryptography, if every person in a group of 12 people needs to communicate with every other person in the group, how many secret keys are
required ?

FFET elleng Gmlwims el wedlev, (Symmetric key crytography) 12 GLIT Q& MeooTL & 6N6L 2 66T 6261 QaUM(H HLIHLD & W edleL

2 66T REUIQGUMT(H BLBL I QSTLTL Q& M6Ter GauesoT(hHILD 6T6TMITEY, 67855 6meT THG W 65l6nF&6T (secret keys) CHemI6U ?

A: 54
54
B: 66
66
C: 64
64
D: 56
56

In a RSA cryptosystem, a participant A uses two prime numbers p = 13 and q =17 to generate his public and private keys. If the public key of a is 41, then the
private key of Ais .

6 RSA G FIICLTH6VL LD F6VL_LD6L (Crypto Systems) e(H LIGIGHMHLITATT A H60THl QLTSI LnMmmIh SeoflliLL L efllem &g emem
(Public and Private Keys) 2 (H6uT&:& P=13 LoMMILD q=17 Su&HWI G T600T(H) LIS T 6T600T&H6m6TLI (Prime Numbers) LIWLITLIG S SIS MTT. A
@\ 6T QUMSI ellen & 41 21,8 B BHSMTEL A G 60T FevflLILIL L ellend (Private Key)

A: 85
85
B: 87
87
C: 89
89
D: 88
88

Match the following :

l. ‘GRGS a. HDLC

2. CRC10 b. LANs

3: CRET6 Gs ATM AAL

4. (ERE32 d. ATM Header
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LSltTeu(HeuesTeumen ML CILIM(HE S5

(T} CTRES (a) HDLC

[2) CRCI10 (b) LANs

(3) CRCI16 (c) ATMAAL

(4) CRC32 (d) ATMHeader

A: 1-b,2-c, 3-d,4-a

(D-(b), (2)-(0), (3)~(d), (4)-(a)
B: l-c,2-d,3-b,4-a

(D)-(c), )~(d), (3)-(b), (4)-(a)
C: 1-d,2-c, 3-a,4-b

(1)-(d), (2)-(c), (3)-(a), (4)-(b)
D: 1-a,2-c,3-d, 4-b

(D-(@), 2)-(c), 3)-(d), (H)-(b)

73 Choose the correct match type.

A Timeout caused by a Post Packet may be caused by
1. Noise on a transmission line
2. Overflow of buffer

3. Packet discarded at a congested router
4. Due to fragmentation

FflwmerT alan&eml G THOSH&SHE| D

[ QLHS CLISRSLL eV (lost packet) FMHLIL L. 60L LD 6L G H60TMeV HLILL Sl
1. 19T meTeruLll €9 65T em6v6nflev F55 510

2. @ WSS H 6T aulllgeL

3. QBlFeumert HengFalluledey (router) LITGHQSL BITTSHFlSSLILLL &I

4. BlevoTLMTHIGH6V &ITI600TLOMS

A 1and4 are correct

1 LMD 4 Fiflwimers!
B: 2and4 are correct

2 IDMHMID 4 Fiflwimeorsl
C: 2and 3 are correct

2 nmmid 3 Fflwmersl
D: 1 and 3 are correct

1 Lmmid 3 Fiflwimers)

74 The virtual path identifier is an bit field in a UNI cell and a bit in an NNI cell.
QUUWIBIGT LIMen S {60 WIMemhIg ML LY (Virtual path identifier) 6TedTLIZGI UNI &605 560 62(1H L9 YeupLb LnmmIth e NNI
HUSHO o GlID.

A: 12,8
12,8
B: 8,12
8, 12
C: 8,16
8,16
D: 16,8
16, 8
75 | ATCP segment consist of a fixed byte header.
@ TCP LNflelléL Blemeuwimeor  emUL QamL L[ (Byte Header) 2_6Temg!.
A: 24
24
B: 16
16
C: 20
20
D: 15
15

76
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417

Match the following:

Match correctly the cryptographic algorithm with their corresponding key-

length.

1. DES a.
2. Rjindeal ki
3. RC4 e,
4, Blowfish d.
L9l6oT6U (THEUETTEUM DML ClLIM(THS S|

HALCLIE T8 3i6v8Tf15856m8 (Cryptographic algorithm)
Sieummlest ClasTLLsnLwWw edlen s HemsgIL et (Key-Length)

CluT®BSS6LD
(1) DES
(2) Rijindeal
(3) Rc4
(4) DGemmiie (blow fish)

A: 1-d,2-b, 3-a,4-c

(D-(d), (2)-(b), (3)-(a), (4)-(c)
B: 1-b,2-c, 3-a,4-d

(D-(b), (2)-(0), (3)-(a), (H)-(d)
C: l-c,2-a, 3-d,4-b

(D-(e), (2)~(a), (3)~(d), (H)-(b)
D: 1-c,2-d,3-b,4-a

(D-(c), @)~(d), (3)-(b), (4)-(a)

The fundamental relationship between the speed of light (in vacuum)C, frequency f and wavelength 1 is given by .
eeflufler Caussid (QeuMNILSH6V) C, HBTQ 66D £ IDMMILD SjemeuBaTid 1 oL& WM MIGSE @) 6mL GUILLITET S{1q.LILIenL

2_mey
A:
C
B: ¢
C
C: C
C

=f
=f
=1f
=1f
=1/f
=t

D: c=If

C

=If

Match the following:

Match correctly the Attack and the Attacker Activity.

Ji.

Social Engineering

Denial of Service
Dictionary Attack
Spoofing

(a)
(D)
(c)
(d)

a.

GET IT ON
Google Play

128 — 256 bits
1 — 448 bits
56 bits

1 — 2048 bifs

128-256 bits
1-448 bits
56 bits
1-2048 bits

Prevent the legitimate user by
flooding

Exploits trust relationship
Gathering Information

Takes advantage of easy
passwords
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LlesTer (thev 6oTeL HED MLI ClLIMT(h S8 &
SILLTS LbMHMID SILLT&HST ClFwsiumienL GClum(msgea| b

(1) &apsCurliiluey  (g)  HeTLigesT epevLD (PemmulTest
LILLIGOTEDIT (LP6BT60I6U & 8561|LD

(2) G&emeu MILILY (b) DBLEEMSHE ClHTeBTL ClSTLIENLILI
vwetu(h&&I S mE)

(3) SISBTTSH LTS (c) &oeusv Geasfluug)

(4)  eMOLLEIE (d) ereflgment &La FClFmsvedl6tT (Past

Words) Liessf] mesTemLo

A: l-a,2-d, 3-b,4-c
(1)-(a), (2)-(d), 3)-(b), (4)-(c)
B: 1-a,2-d,3-c,4-b
(1)-(a), (2)~(d), 3)-(c), (4)-(b)
C: l-c,2-d,3-b,4-a
(1D-(e), (2)~(d), 3)-(b), (4)-(a)
D: l-c,2-a,3-d, 4-b
(1)-(c), (2)~(a), (3)~(d), (4)-(b)
79 The OSI Network architecture is partitioned into layers.
OSI QBLQEITTE &L LenloLiL] B &EGSHeTTs Nfleasliul G erengl.

A:

[ e Y Y e S

80 In state space search algorithms the initial state is typically denoted as S and the goal state as Sgq,). Which of the following represents the search problem ?
wrple eflsoraeaieflEesL 6 aiflpneamaefley SLTIbLI Blene QUITSIQITS S;y( 6T60Ta|LD @6VE G BI6D Sy, 6T6TO|LD
GM&ESILOGRMS. BLH& 8 600TLalMHMIGT Tenald CHHI1FH60 FEHEHME GMGERMS 2

A Finding a sequence of actions from Sy to Sy

Sinit BV Sgop AIFENE Q&IOS EDETE &6T0TL 11560
B: Finding all possible states from Sij; t0 Sgqq)

Sinit PV Sgoq FMSEWILDTEIT 6N S [Bl60I60 S ENET LD
C: Finding the shortest path from S;;¢ to Sgoa1

Sinit LPS6V Sy0y UENT GG LITENSEDUIS &600TL 118
D: Finding the optimal heuristic for S;,j; to Sgoq)

Sinit LPB6V Syoy EUENT 2 &[6S aiiflervig & sevorL g6y

81 Given two fuzzy sets A and B with membership functions
pA(x) = {0.6, 0.5, 0.1, 0.7, 0.8} uB(x)={0.9, 0.2, 0.6, 0.8, 0.5}
the value of L(AUB)'(x) will be ...

2 miliINery QFWOLMTH&EBL6T A L0MHMID B & W @ Tevor( Qseflaumm QTG LILI&6T QS MTE& &8 LILIL () 6Termer.
pA(X) = {0.6,0.5,0.1,0.7, 0.8} uB(X)={0.9,0.2,0.6,0.8, 0.5}
1A U B) (X) DRI &Heoord R (H 8.

A: {0.1,0.5,04,02,03}
{0.1,0.5,0.4,0.2, 0.3}
B: {0.1,0.5,04,02,02}
{0.1,0.5,0.4,0.2, 0.2}
C: {0.6,02,0.1,0.7,0.5}
{0.6,02,0.1,0.7, 0.5}
D: {0.9,0.5,0.6,0.8,0.8}
£0.9,0.5,0.6, 0.8, 0.8}

82 Decryption of the ciphertext "Z" with the key pair (7, 2) in modulus 26 is
M GSMWITESLD "Z" G 60T @) 6m6uTss6iT (7, 2) CLmBHeven 26 24,58 @@r_r;g,rreu LD MUITE LD 6T5 & 6060T ?
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83

84

85

A: 5
5
B: 13
13
C: 7
7
D: 10
10

In the RSA public key cryptosystem, the private and public keys are (e, n) and (d, n) respectively, where n = p * q and p and q are large primes. Besides, n is
public and p and q are private. Let M be an integer such that o <M <n and f(n) = (p - 1)(q - 1). now consider the following equations.

I.M’=M®mod n

M= (M"9 modn

II. ed =1 mod n

1II. ed =1 mod f(n)

IV. M’ = M®mod f(n)

M = M) mod

f(x) Which of the above equations correctly represent RSA cryptosystem ?

RSA QUME GMIWTES Wemmuiley, Heofl LnHmIh QLTS eNem&F & 6T (e, n) LDMHMILD (d, n) WeHMEW LIWTUGSSLILILH), @HSTeV n
= p*q LOMOHMILD p LLHMID q QUFIWL LIGIT 6T600TEH6T 24,@GLD. GLOSYILD n 6T60TLISI QLTSI LOMMILD p LOMMILD q F6vt] ellemF WML, M
GTEOTLIG (LD (LD 6T600T - 9L,8 E)(BIHSTEV, SILIGLIMSI 0 <M <n LOMMILD f(n) = (p-1) (¢-1) & B BHEHGD. EGLD &FL06dTLIM(H) L 6o
Q&EMTH &S LILL (heTermeor.

L. M'=M°® mod n

M=M"4 mod n

II.ed=1 modn

III. ed = 1 mod f(n)

IV. M'=M® mod f(n)
M=(M"4 mod f(n)
GGV Fn MW 6TET 6THG FLOETLIM(H RSA GMWLMESSMSE S GSMGRMS 2

A: Tand Il

[ LDMHMILD 11
B: TandIII

I LDHMILD TIT
C: ITand IV

II oI TV
D: Illand IV

IIT Lo MILD TV

Let M be a message consisting of 50 AES blocks. Alice encrypts using CBC mode and transmits the resulting ciphertext to Bob. Due to a network error,
ciphertext block number 45 is corrupted during transmission. All other ciphertext blocks are transmitted and received correctly. Once Bob decrypts the received
ciphertext, number of plaintext blocks corrupted is .

M 6TebTLISI 50 AES Q& T&H&H606Md Q& TeoTL 6(H QFWLHWITS @) (H&HE&LBHILD. Alice CBC LILETWeNMenWL LWeTLUGSHH M 2
GSMWMESID QFUIS G60T lemeTalTs alBLh M&FSLIT QL& Bob &@& AILILBMTT. QBLQ6UTFEH Lenp STFLnms,
MEFLUTQALGML QFT&S erevor 45 LM MleTCLIMSI Flen &HSI6TeTSI. LDHM SETH S FSUT QLG QHTEH &EbLD
Flwums oieiuliul® QuMUILGS eTmeor. Bob QUMLILILL en&sUT QLgevenl 196K Q&FUIgS 6| T Flansbs ererflwl

2 T QG T&S &6rfl6iT eTevoT600r1 85 6M 5

Al
1
B: 5
5
C: 2
2
D: 45

45

Match the type of attack and its prevention mechanism:

117 Brute - Force Attack - a. Change of keys

2 Statistical Attack - b. Number of possible keys are large

3 Pattern Attack - (€2 Hide the characteristics of the
language

4, Known — Plain Text Attack - d. Ciphertextis as random as

possible
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S8 (H 601607 sUsNSEMLILLILD Si&68T SHILLY @IWBEY HILLSNSWLD
Clum(H&8&:
(1)  WUL{l-usveumbgLomes (q) ellemgsener THDIGHE
B8 (HEH60
(2) Ysterl efleun Hmés 560 (b) &Enséhwimer
slem Faserfl6tT
ETEUBTEUBT| E:6ME 2 BHLDTE
2 6iTeTgy)
(3) SismwlyY pemp eGS0 (¢)  elwmblulileT LstsTLsener
LDEMM 5 &H60
(4) b ersflw 2 eniy (d) GOuTEsLULL 2 a1
TG (petTenImiH)
AT SINTINTWTNTI, £ Y- v
2 _6iTeNgy)
A: 1-b,2-a,3-d,4-¢
(1)-(b), (2)-(a), (3)-(d), (4)-(c)
B: 1-b,2-¢,3-d,4-a
(1)-(b), (2)-(¢), 3)-(d), (4)-(a)
C: 1-b,2-d,3-a,4-c¢
(1)-(b), (2)-(d), (3)-(a), (4)-(c)
D: 1-b,2-d,3-¢c,4-a
(1)-(b), (2)-(d), (3)-(c), (4)-(a)
86 1- .
2 J = J
Assertion [A] : I RaS (x,y) =min [ R (x,y), s (x,v)]
Reason [R] : j RuS (x,¥ ) =max [ R (x,v) 1 S (2, ¥ )]
Farm A ; x,y ) =min el X
HmI [A] by gloy) [”5[ v) u§( v
syesord [R] hp,g®y)I=maxiup (xy) pg(xy]]
A [A]is true but [R] is false
A &1fl 94,6016V R UMl
B: Both [A] & [R] are true and [R] is correct for [A]
A, R @revor(hd &Il (nmmILD R 6T6dTLISI A& Teor &Fiflulimeor elemgs&Ln {606V
C: [A]is false but [R] is true
A BaUmI S,60TM6eV R &if]
D: Both[A]and [R] are false
A, R @resor(®LD SHeuml
87 Select one of the following process, which produces a non fuzzy control action that represents the possibility distribution of an inferred fuzzy Control action.
BELDEH G0 LaIMMIET JESHIN (F QFWMTES (PamMes CEF6a] QFUIS%. geflaimm &L HUILUTL G QFwedev
FRUMGLEUTS!, Sieinmell&asliuLl L Qgeafleurer &L GILILTLG Bl (nenm LITeUsIsHE almilliL gHuUuGHmS!.
A: Fuzzification
W& LOWILDITEH&HEV
B: Defuzzification
Q@eaflaumgasin
C: Inferencing
9| EDILDTEOTLO & & LD
D: Indexing
& L_QIL_600T 2|60)L0&FH6V
88 In a multilayer perceptron, an error signal originates at an output neuron of the network and propagates through the network.
L6 9106 QUBH T 6ullld &M, @ HelmiseTear GMIUIG G enanrwassHer Qeuaflufl (b Blw,Tmefley 2 meaur&
QISIWIMTS @)6060TILISID (DPEISILD LITa]LD.
A': backward
LNesrGeormas &
B: forward
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(WDETCETTEHSR W

C: upward
GLELBHTEH W
D: downward

GLOCHTEHSRIWI

89 Which of the following is true about discrete hopfield network ?
(i) may be modified to a continuous model
(ii) can be used for associative memory problems
(iii) nodes of the network have a continuous graded output
(iv) energy of the network increases continuously with time

GamrLiLfeu () Hefl euemevenioliL] GMGE Q&TH&SLILLL alms&H wnisefle eemnel Fiflwmeranal ?
) QsTL@GW wrSFlwms rmha) @) Wkigern

i) @emeorLiL] Blememeuss Ll LN TEFemneord@h& @& LIWeTLBSS (WDIGU|LD

iii) auemeuwl & GBMHG&6flev S Lflesliul L QsTLT Qelefuf®h S win

iv) QUEMEVILIS QFWELHMENT BraTenLallel QSTLITFRWTS AF&FERMS!.

A (i) and (iv) only
i DMMILD iv L GILD
B: (i) and (iii) only
i LnMILD iii LD (HILD
C: (i) and (ii) only
i DML i L @ILD
D: (ii) and (iii) only
i LoD iii LOL(RILD
90 | Which of the following statements are TRUE about MTU ?
(i) The Maximum Transmission Unit (MTU) for an IPV6 network must be atleast 1280 bytes.
(ii) IEEE 802.15.4 MTU is 1000 bytes

(iii) IEEE 802.15.4 MTU is 256 bytes
(iv) IEEE 802.15.4 MTU is 127 bytes

MTU umn) LNeTaumld oim&en a8 6rfley 6Tgl 2 eooTemin ?

() 2B &ULF ulMHm 360G (MTU) IPV6 @60 60T SH M & GenmbSLILFLD 1280 emLIL(H&6T (Bytes) @) (H&8 Geleoor(HLD.
(ii) TEEE 802.15.4 MTU 1000 6é0)LIL(H&6T 2_6m LW

(iii) IEEE 802.15.4 MTU 256 e®)LIL(H&6T 2_6mL_UWI S 2 0L WIS

(iv) IEEE 802.15.4 MTU 127 énLIL_ (D &H6T 2_6mL WIS

A (i) and (iii) only

(i) LnMMILD (iii) LOL_(HILD
B: (i) and (ii) only

(i) LnMMILD (i) WL HLD
C: (i) and (iv) only

(i) nMMILD (iv) L HILD
D: (ii) and (iii) only

(i) DM MILD (iii) LD

o Match the following :

(i) Parallel computing (a) Group of computers and devices are linked
together to form a huge computer

(i) Grid computing (b) All the different processors have access to
shared memory

(iiiy Cloud computing (c) Gets computational power just like electricity
through wall sockets

(iv) Cluster computing (d) Usesinternet and remote servers to maintain
data and applications
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92

93

94

QUTHSHSI5

i sneords &euof IS () a) sefleflgser wHmIL Frgesmiserflss

(i) (a) DI 1S
& @(H Quflw sevoflefl 2 (Haumss
RETOTE @) ememraaLILL(HeTerng).

(i) BLLS sewflldfh (b) SiverTEz GleusuGoum)
ClEFW e &(ETHLD LSITULILL
5163165761 8 & &) M S TET 2{600)| 56M 605

Gl mevur (H\eTeTeuT.

(iii) &lemeyL semfluf () (c) GeuT ens6HL(HSET pPULD
Wetramyd CuTeL HemTsEL () F& 5
QuIS g

(iv) &lemeuLi sesslul() (d) S76y LOHMIL LWETUT([HS6m6T

ugmofl&s G)snemrilLd WmHm)Lb
Ggmemev Gaemeu G hIGHemeTL
LweTU{H SS&IH 6T &)

A (D)-(b), (ii)-(c), (iiD)(d), (iv)-(a)
(B-(b), (ii)-(e), (iii)-(d), (iv)-(a)
B (i)-(a), (i)-(c), (iii)-(d), (iv)-(b)
©-(@), (i)-(c), (iii)-(d), (iv)-(b)
C: (D-(b), (i)-(a), (iiD)-(d), (iv)-(c)
(B-(b), (ii)-(a), (iii)-(d), (iv)-(c)
D ()-(c), (i)-(b), (iii)-(d), (iv)-(a)
()-(c), (iD)~(b), (iii)-(d), (iv)-(a)
Assertion(A): Cloud Computing is facilitating the libraries for pooling the resources.

Reason(R): Resource pooling has helped the libraries to share skilled manpower in cloud.
In the above statements, choose the correct answer from the options given below.

Famml (A): Beme|l sHIDLIWLL QB BIeVSEISGEHSHE aleThIGmenE CFafless 2 HalHmal

SMTI6EOOTLD(R): UEThIGH 6T CF&HLILIG BIeVSHEISEHSES HMEnLOWITET Lo6flS aeTsHm s Herall 1960 LR THSIC & meTeT
o2 sellwsl.

GLnGev 2_6iTeT SiMlGem &G etlen, BCLY QaTHIS&LILL (B eTer allpLiLIBIgGefedmha Filwmer LSamensd CoHTHO S0 &80,

A Both(A) and (R) are true and (R) is the correct explanation of (A)

(A) LDMHMILD (R) 6T6dTM @ Tevor(HILD &ifl LnMHMILD (R) eTEOTLIG! (A) - 60T FflWimest eflem& &b &L, &LWh
B: Both (A) and (R) are true and (R) is NOT the correct explanation of (A)

(A) LDMHMILD (R) 6T6dTm @ Fevor(GID &l LnMHMILD (R) TedTLIS! (A) - 60T Fiflwimeot elemd a1 3{6v6v
C: (A)istrue but (R) is false

(A) eTetTLIGI FIf] 9L,60TIT6V (R) 6T60TLIGI S6UmI
D: (A)is false but (R) is true

(A) 6TET LIS H6UMI 21,60TIT6V (R) 6T60T LIS &

is an Internet connected task timer.
GTGOT LIS (3)60)600T LIS S1L_60T ) 606008 &L ILIL L Lieoof) Gy femal (task timer) Qb,@&GLD.

A: CLOCKOF NET
FeTmd el QBL

B: CLOCKER
RETMTEHST

C: CLOCKODILLO
FReTTEHECHT HevCeuiT

D: CLOCKEOINTERNET

FETTEHRGWIT @) 6M600TLLILD

Among the following statements which is true related to cloud computing ?
WetteubLd onfl&emasgs6rflev 6T Bemay L SLDLIWLL 1 Bl Q& ITL[JLIT60T 2_600T60L0 ?

A Itisa set of services provided by Cloud Corporation
@8 Remayl &TTLLGCTAQET aULphIGLD CF e el 6fl6ir Q& TELILIMEGLD
B: Itis a set of internet-based services of an application installed in your system

@&l 2_MIG6T Gevoflefluileh BlmieuiLl L e LWeTUTL (b (2L6flG&Haq.60T) @ emetor &1g.LiLlenL_uileumeor G& emeudserfledr
QHTGSGLILUMGLD.

C: [Itis atype of Internet-based computing that provides shared computer processing resources and data to computers and other devices on demand

@) 3! ©)60)600T LIS EMTHENS 1Q L1LIMLUIMTES GG TeuoTL 8600116011 &600T&H R L6V 61U & 3L GLD. @S Sevoflevflaer nmmith Lm
FITG 60T EI&HEH&HG CHMaISHCHML LR TLILIL L &60fl6f] Q&FW6TES GU6TEIGEETW D &T6&HemeTW D ULEIGRMS!.

D: Itis a set of resources that reduces system efficiency
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@ 3! Sevoflenf] QFLIGL HMEETS GME & LD aueTmhIS6Tl6T Q&STGSLILIMEGLD.

95 ‘Which virtualization refers to a complete simulation or translation of the host hardware to some sort of virtual CPU, virtual memory or virtual disks for use by
the VM using its own unmodified OS ?

6TH& QLOUIBGITE S 6TedTLIS CamTeuL. aleTQLIMTH6rer (LW 2 (HausLlILGSSISH0 Vs @Heilld QLUIEIGT CPU (Virtual
CPU) QOWIB&T Blemeameussib &evevgl QOUIBIGT el (& EHSHE 3ISH60T QFMHS TMHMLUILILTS 0S-U1 LweTUBSSH VM
LweTUR S SIS sH GM&EH M ?

A': Full Virtualization

(LW QUWB&EIT&HSLD
B : Partial Virtualization

UGS QWBISTTSSLIN
C: Hybrid Virtualization

SHeVLIL] QLOUIBI&TTEELD
D : Para-Virtualization

LUMIT-QUB&TT&EI0

96 ‘Which of the following is incorrectly paired ?

1. VLC-Visible Light Communication
2. LPWA-Low Power Wired Area

3. ITU-Internal Telecommunication Union
4. SRD-Short Range Devices.

LN edreu(meueoreu M6V 6T&I SeUMTE E)60)600Ts8 LI (H 6Tl ?
1. VLC - Visible Light Communcation

2. LPWA-Low Power Wired Area

3. ITU-Internal Telecommunication Union

4. SRD-Short Range Devices

A: 1and4 are correct
1 LoMILD 4 eTedTLIG Fif]
B: 3and4 are correct
3 IDMHMID 4 eTedTLIG! &ifl
C: 1and 2 are correct
1 LHmILD 2 etedTLIS &Fifl
D: 2 and 3 are correct
2 InMHMILD 3 eTedTLIG! &Fif]
97 In RFID application, the active tag is powered by which enables larger memory or more functionality.

RFID LIW6TUIML 1960, Q&FWeN6y 2_6TeT Gnl&Q & mey Qe QUSSLILGRMS!, @& Uil BleneTaussLh (Large memory)
VLS ST QFWHUTL ML QFWOLOSSIHMS!.

A: Sunlight
&w gl
B: Sound
660

C: Embedded battery

2 LQuUTHGasLUL L GULLI]
D: RF Signals

RF & L8660 (65 & 6T

98 Which of the following are used the building blocks of IoT ?
WetreumeuatTelmmlev 6131 IoT-uf6dT &L HILMeTS Q& T&H SHerfle LweaTUBhSSLILG SRS

A: MEMS
MEMS
B: Smart objects
GULDMTL QUITHL_&H6T
C: Actuators
QUSERG6T
D: SANET
SANET

99 is also known as external cloud.

Qeuefllilm WL (cloud) 6TeTMILD SeMLPGSLILGEMS!.

A': Private Cloud
SeoflliLl L &6y
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B: Public Cloud

QUME LS6v
C: Hybrid Cloud

Sl &6y
D: Community Cloud
FWPSTW LS 6L

100 | Choose the correct cloud database from the following.

Lereumeustreummlelmb e &lwimer (&6 rals SaGamss CEIHESH &H&a) L.

A: MySQL
My SQL
B: ORACLE
ORACLE
C: Sybase
Sybase
D: Trackvia

Trackvia
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